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 MECE-001  

MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

December, 2021 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions from each section as per the 

instructions given.  

SECTION A 

Answer any two questions from this section. 220=40 

1. (a) For a regression equation Y =  + X + U, 

explain the procedure of estimation of 

parameters. 

(b) If an estimated equation is given as 

 Y = 1.5 + 0.37 X1 – 0.5 X2 

          (1.7)  (0.21)     (1.5) 

 interpret the results and test the 

significance of the estimation. 

 (Figures in parentheses indicate standard 

error).  

2. Explain the concept of autocorrelation. What are 

its consequences ? Explain any one of the methods 

of detecting autocorrelation in a regression model.  
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3. Explain the underlying ideas behind the probit 

model. In what respect is it better than the linear 

probability model ? 

4. (a) What is meant by identification problem in a 

simultaneous equation model ? 

(b) Find out the identification status of the 

following model :  

 Ct = a0 + a1Yt + U1 

 It = b0 + b1Yt + U2 

 Yt = Ct + It + Gt 

 (endogenous variables C, Y, I) 
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SECTION B 

Answer any five questions from this section. 512=60 

5. Consider the regression equation 

 Yi =  + Xi + Ui 

 where Ui is the error term. 

(a) Explain the need for including Ui in the 

model. 

(b) What assumptions are made regarding Ui ? 

(c) What problems are encountered if these 

assumptions are violated ? 

6. Suppose you are given the relationship between 

expenditure (E) and income (Y) for two time 

periods 1 and 2, as follows : 

 E1 = 1 + 1Y1 + 1 

 E2 = 2 + 2Y2 + 2 

Explain how you will apply Chow test to the 

above model. 

7. Define Partial Adjustment Model. How is it 

different from the Dynamic model ? 

8. Discuss the problem of multicollinearity. What 

are the remedial measures ? 

9. Briefly discuss the problem of heteroscedasticity. 
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10. (a) What does the Gauss-Markov Theorem tell us 

about the properties of the OLS estimators ? 

 (b) Prove that the OLS estimator 
^
  is the Best 

Linear Unbiased Estimator (BLUE) of  in 

the model Yi =  + Xi + Ui. 

11. Highlight the steps followed in the 2 SLS method 

of estimation of parameters. 

12. Write short notes on any two of the following : 

(a) Dummy Variable Trap 

(b) Confidence Interval 

(c) Coefficient of Determination 
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E_.E. (AW©emñÌ) 

gÌm§V narjm 

{Xgå~a,  2021 

E_.B©.gr.B©.-001 : AW©{_{Îm {d{Y`m± 

g_` : 3 KÊQ>o A{YH$V_ A§H$ : 100 

ZmoQ> : {XE JE {ZX}emZwgma àË`oH$ IÊS> go àíZm| Ho$ CÎma Xr{OE & 

 
IÊS> H$ 

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE &  220=40 

1. (H$) EH$ g_ml`U g_rH$aU h¡ : 
 Y =  + X + U, Bg g§~§Y _| àmMbm| Ho$ AmH$bZ 

H$s H$m`©{d{Y H$s ì`m»`m H$s{OE & 

(I) `{X EH$ AmH${bV g_rH$aU {X`m J`m h¡ : 
 Y = 1.5 + 0.37 X1 – 0.5 X2 

           (1.7)  (0.21)     (1.5), 

 n[aUm_m| H$s ì`m»`m H$s{OE Am¡a AmH$bH$ H$m 
gmW©H$Vm-narjU H$s{OE & 

 (H$moð>H$m| _| Xr JB© g§»`mE±, _mZH$ Ìw{Q> H$mo Xem©Vr h¢) 

2. ñd-ghg§~§Y H$s g§H$ënZm H$s ì`m»`m H$s{OE & BgHo$ 
n[aUm_ Š`m h¢ ? g_ml`U _m°S>b _| ñd-ghg§~§Y H$m nVm 
bJmZo H$s {H$gr EH$ {d{Y H$s ì`m»`m H$s{OE & 
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3. àm°{~Q> _m°S>b Ho$ AmYm[aH$ {dMmam| H$s ì`m»`m H$s{OE & 
a¡{IH$ àm{`H$Vm _m°S>b go, `h {H$g ZµO[aE go ~ohVa h¡ ? 

4. (H$) `wJnV² g_rH$aU _m°S>b _| nhMmZ/A{^{ZYm©aU 
(identification) g_ñ`m go Š`m VmËn`© h¡ ? 

(I) {ZåZ{b{IV _m°S>b H$s nhMmZ (A{^{ZYm©aU) 
pñW{V H$m nVm bJmBE :  

 Ct = a0 + a1Yt + U1 

 It = b0 + b1Yt + U2 

 Yt = Ct + It + Gt  

 (A§VOm©V Ma C, Y, I) 
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IÊS> I 

Bg IÊS> go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE &  512=60 

5. g_ml`U g_rH$aU na {dMma H$s{OE : 

 Yi =  + Xi + Ui 

Ohm± Ui Ìw{Q> nX h¡ & 

(H$) _m°S>b _| Ui gpå_{bV H$aZo H$s Amdí`H$Vm ñnï> 
H$s{OE & 

(I) Ui Ho$ g§~§Y _| Š`m AdYmaUmE± {Z{_©V H$s JB© h¢ ? 

(J) `{X BZ AdYmaUmAm| H$m C„§KZ {H$`m OmE, Vmo 
{H$Z g_ñ`mAm| H$m gm_Zm H$aZm n‹S>oJm ? 

6. _mZ br{OE {H$ Xmo g_`md{Y`m| 1 Am¡a 2 Ho$ {bE ì`` (E) 

Am¡a Am` (Y) Ho$ ~rM H$m g§~§Y Xem©`m J`m h¡, Omo Bg 

àH$ma h¡ : 

 E1 = 1 + 1Y1 + 1 

 E2 = 2 + 2Y2 + 2 

 g_PmBE {H$ Cn`w©º$ _m°S>b _| Amn MmAmo narjU H¡$go 

bmJy H$a|Jo & 

7. Am§{eH$ g_m`moOZ _m°S>b H$s n[a^mfm Xr{OE & J{VH$s 

(Dynamic) _m°S>b go, `h H¡$go {^Þ h¡ ? 

8. ~hþg§aoIVm H$s g_ñ`m H$s MMm© H$s{OE & {ZdmaH$ Cnm` 

Š`m h¢ ?  

9. {df_{dMm{bVm H$s g_ñ`m na g§jon _| MMm© H$s{OE & 
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10. (H$) Jm°g-_mH$m}d à_o`, Amo.Eb.Eg. AmH$bH$m| Ho$ 
JwUY_m] Ho$ ~mao _| h_| Š`m ~VmVm h¡ ? 

(I) {gÕ H$s{OE {H$ Amo.Eb.Eg. AmH$bH$ ^
 , _m°S>b 

 Yi =  + Xi + Ui 

 _|,  H$m loð>V_ a¡{IH$ AZ{^ZV AmH$bH$ 
(BLUE) h¡ &  

11. àmMbm| Ho$ AmH$bZ H$s 2 Eg.Eb.Eg. {d{Y _| 
AZwgaUr` MaUm| na àH$me S>m{bE & 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  
{b{IE : 

(H$) S>_r Ma Omb 

(I) {dídmñ`Vm A§Vamb 

(J) {ZYm©aU JwUm§H$ 

 

 


